Q Fot5 7| 4 E E (X 04-04=)
SHR|AMA (832 7|7E 2024 04 022 17A] ~ 042 03 17A))

[2024FH 04E 02 17A| £HE | Ofl =2t ATy
5 FURE UK b, 05 ¥ 2F |0l -

> 271y

O (=) &MA7A)), FetEE2 SE|H 25t Sld=20] BOX| 2 Aol HES0[ 11KZ 210, A[g2 10kmeL|CE 2522)2

= ¢ol0| F20M SF22 0|5t 7|?=.*-£-9| geks 2ot =2|1, MY FE 7t 2| ST

O (L) gallds XLts M7[ge] Sz S2|1 H|7t L2|Ch7t F2E JX S

Ol & Z|X/E[27|2 (°O) Of| & Z==ZHmm) 0f| & &M (cm)
(Lhg) 13/16 (RLE~LY) 20~40 .
> A 7| H0E
O @ A, FE1LE) 25R2Y) S5 E H|7t Li2[HA HIo| Z=0 el YAIHSZE AI'Z0]| 4000m 0|2t 2 FHOpE mH7F AU
0, AE20c ¢ 1000ft Q|2 WAL L|CH
@S 2HE) LERY) 2o LHYEY) A AtO| HIZHO| BE< 15kt, X[CH=7tS%0] 25kt O| M2 2 ZstA 2711, /S
L= Of A ! LICE

AlZHE SHIE O =
szay  EEEETT EOESEESTE Bx2 HsA Goop | MEDIUM [ POOR

A 02 03y
17 18 19 20 21 22 23 00 01 02 03 04

4
szams L Ay Ay Ay Ay Ay < a M
m%“ | |;_| U L_l < < <

ACH=H= =210 =310 5310 =310 5110 =310 =315 £Z15

=2 =215 =28 =28 =28
H, W56 56 H,HE6 F,HE6 H, W56 56 o, 513 I, 33 o, 0513 650 F,H30 F,HE0
=225 Hri=E125 Hj=5:125
B()ES 8120 28120 23120 ZE120 2120 ZF120 E3100 2100 2100 E.90 ET0 BT
fGusT D EE A 4D B4 EENF] 4D E4115 E4015 E4115 228 248 B4
(kt) GUST:25 GUST: 25 GUST: 25
03g
05 06 o7 08 09 10 11 12 13 14 15 16
AT
ﬁzfi ;13 < < < < < < < < < < I I
(01-19) - &z - - - &z - - -
ez =88 =28 =58 =88 =28 =58 =28 =88 =28 =58 =52 =82
HE A, 820 H, 820 = 0 =, HE0 A, 820 H, 820 = 0 =, HE0 A, 820 &, 820 =R = HET
e Ea90 Zaho0 B0 Eg90 Ea90 Ea90 B0 Eg90 Ea90 Ea90 B0 @20
[GusT 248 248 B 48 248 248 B 48 248 248 EEa E&7
(kt)

XEZ NS SSE ST 200 TSt BHEFS 2l0ot, EHels ke (Of: ‘58 4= 50| 4kt = 2|0))

> ZEHE

O glZ

O HaAr

XEY7]S A BEO| CHE AEMSH Arg2 2E7]¢78 10Xl @@mokmagoknofAf Holeh 4= QLS L Tt




S A Lol ClCF NS S O > |_
P 17| Il- '|9|-|:|'| F H J
0FE:|XA|7I o | <L | AX <

rE
o
m
3Q
o
rir
4o
e
oh
0ot
N
0r

H
) E




